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3. y=-3+2

Algebra 2
-2

2. y=2'

10.1 to 10.3 Progress Check

Graph each exponential or logarithmic function.
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1. Solve each equation.
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11. Evaluate each expression.

A. log,27 B. log‘,é C. log 216 D. log, }
= - 2 /
12. Solve each equation.
A. 10g2x=8 B logaéng C. logz(x2—4)=log23x D. log,(3x+10)=2
2% x 2= % 7(2,_v.(73_>< )(7 = 3x 410
-0 =
X"Z/B;i(“‘m_o K'-3x-100
- Y =
L (x-5)(x+2)=D
X=U R X=% X717
R 756 x= 216 %= ¢ X=5
13. Expand each expression.
4
A. log, x’y’ B. log3Z—2 C. 10g2(2y3)2
“Oﬂz‘[zzﬁb) |
2\03;5 + L1,y
alg x+3m Y 1 lon 6 -Joa b 23 6 loqu
4 u C 79 Jg /;:(j
14. Condense each expression.
A. 3logx—2logy B. lloga+4logb C. 3log,a+7log,b-3log,c
, +
o (22 | a(a"zb“‘\‘ ey
| r)t_} 7../-,\ | 0 ,.é t A
15. Solve each equation.
A. log,6+log, x=1log,12 B. log,,18~-log,,3x =log,,2 C. 3log8-1log36=logx
(o) = 1og 172 ﬁ\_ i v
|0g, (bx) =103, ’Oﬂ.o( 2 ‘,oj” \(3;5’?5 Ak
bx=l7 & 22 pedy 36"
S, =x
- = C’
X=7 X = FET =%
D. logloz+log,0(z+9):] E. log3(a2+3)+log33=3 F. log4(2y+2 —10g4(}’—2)=1
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